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QUESTION 1

Which two QoS classes are enabled by default on Cisco\\'s UCS servers? (Choose two.) 

A. Silver 

B. Platinum 

C. Best Effort 

D. Fibre Channel 

E. Bronze 

Correct Answer: CD 

 

QUESTION 2

Depending on the tab context in a Cisco UCS Manager, what three objects are contained in an Organization? (Choose
three.) 

A. Identity Pools 

B. Roles 

C. Privileges 

D. Policies 

E. Service Profiles 

F. Locales 

Correct Answer: ADE 

 

QUESTION 3

Where can World Wide Node Name be defined? 

A. In neither vHBA template nor SAN connectivity policy 

B. In vHBA template only 

C. In SAN connectivity policy only D. In both, vHBA template or SAN connectivity policy 

Correct Answer: B 

 

QUESTION 4
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How do service profiles enable workload mobility? 

A. Service Profiles represent a physical view of a server without any ties to specific virtual hardware 

B. Service Profiles work with the underlying hypervisor and communicate with the VM to detect workload movement 

C. Service Profiles represent a logical view of a server without any ties to specific physical hardware 

D. Service Profiles communicate workload movement to VCenter 

Correct Answer: A 

 

QUESTION 5

An administrator needs to configure NPV between an edge fabric switch which will support application servers, and an
upstream core switch. A Fiber Channel (FC) link exist between the two switchers. 

What two statements are true about roles on the edge fabric switch? (Choose two.) 

A. The port that connects to the core switch will be an NP port. 

B. The ports that connect to the servers will be F ports. 

C. The port that connects the switches is a TE port. 

D. The port that connects to the core switch will be an FP port 

E. The ports that connect to the servers will be N ports. 

Correct Answer: AB 
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